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General Instructions : 

(i) This is an objective type question paper. Options for the correct answer must 
be marked only in the OMR sheet.  

(ii) All questions are compulsory. 
(iii) The question paper consists of 50 questions each of which carries one mark. 
(iv) Each question has four alternatives, one of which is correct. Write the Sl. No. 

of your correct alternative/answer below the corresponding question number 
in the OMR sheet and then mark the rectangle for the same number in that 
column. If you find that none of the given alternatives is correct, then write 0 
and mark in column 0. 

(v) Do not waste time in reading the whole question paper. Go on solving 
questions one by one. You may come back to the left out questions, if you have 
time at the end.  
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1. Which one the following is a human modified environment ? 

(1) Cities (2) Industries 

(3) Plantations (4) Crop fields 

2. Which one of the following in not one of the seventeen Sustainable 

Development Goals (SDGs) ? 

(1) Good health (2) Zero hunger 

(3) No poverty (4) Social equity and equality 

3. Which one of the following is not a decomposer ? 

(1) Earthworm (2) Fungi 

(3) Vulture (4) Hawk 

4. The extent of the biosphere is about : 

(1) 11,000 m below the surface of the earth to 9,000 m above the mean sea 

level. 

(2) 9,000 m below the surface of the earth to 9,000 m above the mean sea 

level. 

(3) 10,000 m below the surface of the earth to 10,000 m above the mean sea 

level. 

(4) 6,000 m below the surface of the earth to 8,000 m above the mean sea 

level. 
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1. fuEufyf[kr esa ls dkSu&lk ekuo la'kksf/kr i;kZoj.k gS \ 

(1) 'kgj (2) m|ksx 

(3) o`{kkjksi.k (4) Qly [ksr 

2. fuEufyf[kr esa ls dkSu&lk ,d l=g lrr~ fodkl y{;ksa esas ugha gS \ 

(1) vPNk LokLF;  

(2) Hkw[k dh lekfIr 

(3) xjhch dh lekfIr  

(4) lkekftd lerk vkSj lekurk 

3. fuEufyf[kr esa ls dkSu&lk tSo vi?kVd ugha gS \ 

(1) dsapqvk (2) dod 

(3) fx¼ (4) ckt 

4. thoeaMy dk foLrkj yxHkx gS % 

(1) i`Foh dh lrg ls 11,000 eh- uhps ls 9,000 eh- Åij vkSlr leqæ ry rd  

(2) i`Foh dh lrg ls 9,000 eh- uhps ls 9,000 eh- Åij vkSlr leqæ ry rd 

(3) i`Foh dh lrg ls 10,000 eh- uhps ls 10,000 eh- Åij vkSlr leqæ ry rd 

(4) i`Foh dh lrg ls 6,000 eh- uhps ls 8,000 eh- Åij vkSlr leqæ ry rd 
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5. Primary consumers are found at : 

(1) Trophic level I (2) Trophic level II 

(3) Trophic level III (4) Trophic level V 

6. How much percent of water is present on the earth surface in the form of fresh 

water ? 

(1) About 4% (2) About 3% 

(3) About 2% (4) About 1% 

7. Detritus food chain begins : 

(1) Always in the ocean  (2) With a producer 

(3) With decaying organic matter (4) With air pollution  

8. Maple, beech and oak are found in : 

(1) Temperate deciduous forest 

(2) Temperate evergreen forest 

(3) Temperate rain forest 

(4) Coniferous forest 

9. Unattached organisms which live at the air-water interface are known as : 

(1) Plankton (2) Neuston 

(3) Nekton (4) Periphyton 
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5. izkFkfed miHkksDrk fdl iks"kh Lrj esa ik, tkrs gSa \ 

(1) iks"kh Lrj I (2) iks"kh Lrj II 

(3) iks"kh Lrj III (4) iks"kh Lrj V 

6. /kjkry ij fdrus izfr'kr ty e`nq ty ds :i esa gS \ 

(1) yxHkx 4% (2) yxHkx 3% 

(3) yxHkx 2% (4) yxHkx 1% 

7. vijn [kk| Ükà[kyk dh 'kq#vkr gksrh gS % 

(1) lnSo egklkxj esa (2) ,d mRiknd ds lkFk 

(3) {k;dkjh dkcZfud inkFkZ ds lkFk (4) ok;q iznw"k.k ds lkFk 

8. eSiy] chp vkSj cywr ik, tkrs gSa % 

(1) 'khrks".k i.kZikrh ou esa (2) 'khrks".k lnkcgkj ou esa 

(3) 'khrks".k o"kkZ ou esa (4) 'kadq/kkjh ou esa 

9. vlac¼ tho tks ok;q ty varjki`"B ij jgrs gSa] dgykrs gSa % 

(1) Iyod (2) iVyd 

(3) rj.kd (4) ifjikni 
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10. Which one of the following is not a part of lentic ecosystems ? 

(1) Lakes (2) Impoundments 

(3) Wetlands (4) River 

11. In which of the following process, solid water directly changes into water 

vapour ? 

(1) Evaporation  (2) Transpiration 

(3) Sublimation (4) Condensation 

12. Kul is a traditional irrigation practice in the state of : 

(1) Himachal Pradesh (2) Rajasthan 

(3) Uttarakhand (4) Punjab 

13. Which of the following soil supports cultivation of Rubber ? 

(1) Black soil (2) Red soil 

(3) Laterite soil (4) Alluvial soil 

14. Which one of the following is not one of the consequences of excessive  

irrigation ? 

(1) Waterlogging in the soil 

(2) Loss of productivity partially or completely 

(3) Increase in salinity or alkalinity 

(4) Increase in productivity substantially  
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10. fuEufyf[kr esa ls dkSu&lk ljks ikfjra= dk Hkkx ugha gS \ 

(1) >hy (2) ifjca/ku 

(3) e#Hkwfe (4) unh 

11. fuEufyf[kr esa ls dkSu&lh izfØ;k Bksl ty ls lh/ks tyok"i esa ifjofrZr gks tkrh gS \  

(1) ok"ihdj.k (2) ok"iksRltZu 

(3) Å/oZikru (4) la?kuu 

12. dqy ,d ikjaifjd flapkbZ i¼fr fdl jkT; esa iz;ksx dh tkrh gS \ 

(1) fgekpy izns'k (2) jktLFkku  

(3) mÙkjk[k.M (4) iatkc 

13. fuEufyf[kr esa ls dkSu&lh feV~Vh jcj dks lgk;rk iznku djrh gS \ 

(1) dkyh feV~Vh (2) yky feV~Vh 

(3) ysVjkbV feV~Vh (4) tyks<+ feV~Vh 

14. fuEufyf[kr esa ls dkSu&lk vR;f/kd flapkbZ dk ifj.kke ugha gS \ 

(1) feV~Vh esa tyHkjko 

(2) mRikndrk uqdlku iwjh rjg ;k FkksM+h rjg ls 

(3) yo.krk vkSj {kkjh;rk esa o`f¼ 

(4) ewyr% mRikndrk o`f¼ 
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15. Which one of the following is an economic significance of forest ? 

(1) Protection of biodiversity 

(2) Forest products used for pharmaceuticals 

(3) Aesthetic and Spiritual purpose 

(4) Recreational purposes 

16. Which one of the following is not a cause of deforestation ? 

(1) Forest fires (2) Grazing of animals 

(3) Selective cutting of the trees (4) Pest attack  

17. In which of the following states was successfully implemented Joint Forest 

Management ? 

(1) West Bengal (2) Uttarakhand 

(3) Odisha (4) Himachal Pradesh 

18. Which one of the following are the most abundant life forms on the earth in 

terms of number ? 

(1) Plants 

(2) Birds 

(3) Amphibians and Reptiles 

(4) Insects and Microorganisms 
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15. fuEufyf[kr esa ls dkSu&lk ou dk vkfFkZd egRo gS \ 

(1) tSofofo/krk dk cpko 

(2) ou mRikndksa dk vkS"k/kh; iz;ksx 

(3) lkSUn;Z lEcU/kh vkSj vk/;kfRed mís'; 

(4) euksjatu ds mís'; 

16. fuEufyf[kr esa ls dkSu&lk ouksUewyu dk dkj.k ugha gS \ 

(1) ouh; vkx 

(2) i'kqpkj.k 

(3) isM+ksa dh p;ukRed dVkbZ 

(4) dhV vkØe.k 

17. fuEufyf[kr esa ls fdl jkT; us lQyrkiwoZd la;qDr ou izcU/ku dks dk;kZfUor fd;k gS \ 

(1) if'pe caxky (2) mÙkjk[kaM 

(3) vksfM'kk (4) fgekpy izns'k 

18. fuEufyf[kr esa ls dkSu&lk la[;k dh n`f"V ls i`Foh ij lcls izpqj ek=k esa ik;k tkus okyk thou  

:i gS \ 

(1) ikS/ks (2) i{kh 

(3) mHk;pj vkSj ljhl`i  (4) dhV vkSj lw{etho 
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19. The Trans-Himalayas biogeographic region is found in : 

(1) Sikkim (2) Uttarakhand 

(3) Ladakh (4) Arunachal Pradesh 

20. Which one of the following biogeographic region covers the largest in India ? 

(1) The Western Ghats 

(2) The Deccan Peninsula 

(3) The Indian Desert 

(4) The Gangetic Plain  

21. Which one of the following is an indirect use value of biodiversity ? 

(1) Aesthetic value (2) Existence value 

(3) Bequest value (4) Optional value 

22. Which one of the following is a conventional source of energy ? 

(1) Solar energy (2) Atomic energy 

(3) Wind energy (4) Biomass energy 

23. The first wave energy project in India was set up at : 

(1) Gulf of Mannar (2) Gulf of Khambat 

(3) Vijhinjam (4) Hanthal 
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19. Vªkal&fgeky; fuEufyf[kr esa ls fdl HkkSxksfyd {ks= esa ik;k tkrk gS \ 

(1) flfDde (2) mÙkjk[k.M 

(3) yn~nk[k (4) v#.kkpy izns'k 

20. fuEufyf[kr esa  ls dkSu&lk tSoHkkSxksfyd {ks= Hkkjr esa vf/kdre ik;k tkrk gS \  

(1) if'peh ?kkV (2) nDdu dk izk;}hi 

(3) Hkkjrh; e#LFky (4) xaxk ds eSnku 

21. fuEufyf[kr esa ls dkSu&lk tSofofo/krk dk vizR;{k mi;ksx ewY; gS \ 

(1) lkSUn;Z laca/kh ewY; (2) vfLrRo ewY; 

(3) olh;r ewY; (4) oSdfYid ewY; 

22. fuEufyf[kr esa ls dkSu&lk ijaijkxr ÅtkZ dk òksr gS \ 

(1) lkSj ÅtkZ (2) ijek.kq ÅtkZ 

(3) ok;q ÅtkZ (4) tSo inkFkZ ÅtkZ 

23. Hkkjr esa izFke rjax ÅtkZ ifj;kstuk 'kq: gqbZ Fkh % 

(1) eUukj dh [kkM+h ls (2) [kEHkkr dh [kkM+h ls 

(3) fof>Ute ls (4) gUFky ls 
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24. India’s maximum commercial energy comes from : 

(1) Fossil fuel (2) Hydropower 

(3) Atomic energy  (4) Coal 

25. Which one of the following is not a factor for the sustainable carrying capacity 

for the human species ? 

(1) Knowledge system 

(2) Resource availability 

(3) Level of economic development 

(4) Standards of living 

26. Insecticides, particularly chlorinated hydrocarbons reduced the population 

level of : 

(1) Passenger pigeon (2) Bald Eagle 

(3) Corn (4) Indian Rhino 

27. Invasive species which causes skin allergies is : 

(1) Water hyacinth (2) Mesquite 

(3) Congress weed (4) Sweet pea 

28. Which one of the following is an in-situ conservation programme ? 

(1) Zoological parks (2) Artificial insemination 

(3) Fostering (4) National parks 
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24. Hkkjr esa vR;f/kd okf.kfT;d ÅtkZ izkIr gksrh gS % 

(1) thok'e b±/ku ls (2) tyfo|qr ls 

(3) ijek.kq ÅtkZ ls (4) dks;ys ls 

25. fuEufyf[kr esa ls dkSu&lk ekuo iztkfr ds fy, lrr~ ogu {kerk dkjd ugha gS \ 

(1) Kku i¼fr (2) lalk/ku miyC/krk 

(3) vkfFkZd fodkl Lrj (4) thou Lrj 

26. dhVuk'kd eq[;r% Dyksjhu;qDr gkbMªksdkcZu ------------------- ds tula[;k Lrj dks de djrs gSaA 

(1) ;k=h dcwrj (2) ckYM bZxy 

(3) eDdk (4) Hkkjrh; xSaMk 

27. vkØked iztkfr tks Ropk ,ythZ dk dkj.k gksrh gS % 

(1) tyh; tydqaHkh (2) esldkbV 

(3) dkaxzsl ?kkl (4) ehBh eVj 

28. fuEufyf[kr esa ls dkSu&lk ,d ;FkkLFkkus laj{k.k izksxzke gS \ 

(1) thotUrq m|ku (2) Ïf=e oh;Zjksi.k 

(3) ikyu&iks"k.k (4) jk"Vªh; m|ku 
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29. Which one of the following wetland is located in Odisha ? 

(1) Sukhna (2) Renuka 

(3) Chilika (4) Loktak 

30. Which one of the following is a non-point source pollution ? 

(1) Discharge of pollution through chimneys 

(2) Run-offs from agricultural fields 

(3) Discharge channels in municipal areas 

(4) Discharge through pipes in industries 

31. Which one of the following is a major source of ozone as a pollutant ? 

(1) Photochemical reaction 

(2) Coal and oil combustion 

(3) Automobiles  

(4) Petrochemical solvents 

32. Which one of the following is a secondary air pollutant ? 

(1) Sulphur trioxide (2) Sulphur dioxide 

(3) Carbon monoxide (4) Carbon dioxide 

33. Which one of the following is a physical agent of water pollution ? 

(1) Radioactive substances (2) Bacteria  

(3) Particulates (4) Pesticides 
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29. fuEufyf[kr esa ls dkSu&lh e#Hkwfe vksfM'kk esa vofLFkr gS \ 

(1) lq[kuk (2) js.kqdk 

(3) fpfydk (4) yksdVd 

30. fuEufyf[kr esa ls dkSu&lk iznw"k.k xSj&fcUnq òksr gS \ 

(1) fpeuh }kjk iznw"k.k dk izokg (2) Ïf"k Hkwfe dVko 

(3) uxjh; {ks= esa pSuy izokg (4) m|ksxksa esa uyh }kjk izokg 

31. fuEufyf[kr esa ls dkSu&lk vkstksu dk eq[; òksr ,d iznw"kd ds rkSj ij gS \ 

(1) izdk'k jklk;fud izfrfØ;k (2) dks;yk vkSj rsy 

(3) eksVj m|ksx (4) isVªkslk;u foyk;d 

32. fuEufyf[kr esa ls dkSu&lk f}rh;d ok;q iznw"kd gS \ 

(1) lYQj VªkbvkWDlkbM (2) lYQj MkbvkWDlkbM 

(3) dkcZu eksuksvkWDlkbM (4) dkcZu MkbvkWDlkbM 

33. fuEufyf[kr esa ls dkSu&lk ty iznw"k.k dk HkkSfrd ,tsaV gS \ 

(1) jsfM;ks/kehZ inkFkZ (2) thok.kq 

(3) df.kd (4) dhVuk'kd 
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34. Which one of the following is not a symptom of toxicity ? 

(1) Poisoning 

(2) Metabolic disorder  

(3) Malformations 

(4) Releases ionising radiations 

35. Which one of the following is not a biological treatment of waste ? 

(1) Conditioning (2) Lagooning 

(3) Digestion (4) Composting 

36. Which of the following is not a part of organic waste ? 

(1) Kitchen waste (2) Waste vegetables 

(3) Plastics (4) Fruit waste 

37. Which one of the following is not a benefit of recycling of waste ? 

(1) It conserves resources. 

(2) It prevents emission of green house gases. 

(3) It supplies valuable raw materials to industry. 

(4) It does not pollute the environment. 

38. Inter-governmental Panel on Climate Change (IPCC) was established in the 

year : 

(1) 1985 (2) 1986 

(3) 1987 (4) 1988 
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34. fuEufyf[kr esa ls dkSu&lk fo"kkDrrk dk y{k.k ugha gS \ 

(1) fo"kkDr  (2) p;kip; laca/kh fodkj 

(3) foÏfr;k¡ (4) eqDr vk;udkjh fofdj.k 

35. fuEufyf[kr esa ls dkSu&lk tSfod mipkj vif'k"V ugha gS \ 

(1) vuqdwyu (2) ySxwfuax 

(3) ikpu (4) dEiksfLVax 

36. fuEufyf[kr esa ls dkSu&lk tSfod vif'k"V dk Hkkx ugha gS \ 

(1) jlksbZ vif'k"V (2) lfCt;k¡ vif'k"V 

(3) IykfLVd (4) Qy vif'k"V 

37. fuEufyf[kr esas ls dkSu&lk vif'k"V iqupZØ.k dk ykHk ugha gS \ 

(1) ;g lalk/kuksa dk laj{k.k djrk gSA 

(2) ;g gfjr x`g xSl mRltZu jksdrk gSA 

(3) ;g m|ksx dks ewY;oku dPps eky dh vkiwfrZ djrk gSA 

(4) ;g i;kZoj.k dks iznwf"kr ugha djrk gSA 

38. tyok;q ifjorZu ls lacaf/kr varj&ljdkjh iSuy fdl o"kZ esa LFkkfir fd;k x;k gS \ 

(1) 1985 (2) 1986 

(3) 1987 (4) 1988 
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39. Ozone is found in : 

(1) Troposphere (2) Stratosphere 

(3) Mesosphere (4) Ionosphere 

40. pH of unpolluted rain water is : 

(1) 5.7 (2) 6.7 

(3) 7.0 (4) 7.7 

41. Which of the following amendments made the protection and improvement of 

natural environment as Fundamental Duty ? 

(1) Forty-first Amendment Act (2) Forty-second Amendment Act 

(3) Forty-third Amendment Act (4) Forty-fourth Amendment Act 

42. Convention on the Control of Transboundary Movement of Hazardous Wastes 

and Their Disposal is known as : 

(1) The Stockholm Convention (2) The Rotterdam Convention 

(3) The Basel Convention (4) The Vienna Convention 

43. In Delhi, new vehicles should have pollution prevention mechanism 

comparable to : 

(1) BS III (2) BS IV 

(3) BS V (4) BS VI 
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39. vkstksu ik;k tkrk gS % 

(1) {kksHkeaMy esa (2) lerkieaMy eas 

(3) e/;eaMy esa (4) vk;ueaMy esa 

40. viznwf"kr o"kkZty dk ih-,p- eku D;k gksrk gS \ 

(1) 5.7 (2) 6.7 

(3) 7.0 (4) 7.7 

41. fuEufyf[kr esa ls dkSu&lk vf/kfu;e laj{k.k vkSj izkÏfrd i;kZoj.k lq/kkj ,d vk/kkjHkwr drZO; gS \ 

(1) bdrkyhlok¡ la'kks/ku vf/kfu;e (2) c;kyhlok¡ la'kks/ku vf/kfu;e 

(3) rSarkyhlok¡ la'kks/ku vf/kfu;e (4) pokyhlok¡ la'kks/ku vf/kfu;e 

42. [krjukd vif'k"Vksa dh lhek ikj vkoktkgh ds fu;a=.k vkSj buds fuiVku ij lEesyu dks dgk  

tkrk gS % 

(1) LVkWdgkse lEesyu (2) jkWVjMSe lEesyu 

(3) clsy lEesyu (4) fo;uk lEesyu 

43. fnYyh esa u;s okguksa esa iznw"k.k fuokj.k ra= dh rqyuk dh tkuh pkfg, % 

(1) BS III ls (2) BS IV ls 

(3) BS V ls (4) BS VI ls 
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44. At the dawn of agriculture (about 8000 B. C.) the world population was some- 

where around : 

(1) 1 million (2) 2 million 

(3) 5 million (4) 10 million 

45. Which one of the following terms is not a part of WHO definition on health ? 

(1) Physical (2) Mental 

(3) Social  (4) Psychological 

46. Which one of the following is not a geological hazard ? 

(1) Glacier advances (2) Avalanches 

(3) Landslides (4) Earthquakes 

47 In which year Indian coastline experienced the most devastating Tsunami in 

the recorded history ? 

(1) 1999 (2) 2000 

(3) 2004 (4) 2005 

48. Which one of the following is not one of the three major views on nature ? 

(1) The Western (2) The Eastern 

(3) The Sineatic (4) The Indian 
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44. yxHkx 8000 bZlk iwoZ Ïf"k ds vkjEHk esa fo'o dh tula[;k yxHkx Fkh % 

(1) 1 fefy;u (2) 2 fefy;u 

(3) 5 fefy;u (4) 10 fefy;u 

45. fuEufyf[kr esa ls dkSu&lk 'kCn WHO ds LokLF; dk Hkkx ugha gS \ 

(1) 'kkjhfjd (2) ekufld 

(3) lkekftd (4) euksoSKkfud 

46. fuEufyf[kr esa ls dkSu&lk HkwxHkhZ; ladV ugha gS \ 

(1) fgeun vfxze (2) fgeL[kyu 

(3) HkwL[kyu (4) Hkwdai 

47. fuEufyf[kr esa ls fdl o"kZ bfrgkl esas Hkkjrh; rVjs[kk lqukeh ds dkj.k vf/kdre fo/oal dks ntZ 

fd;k x;k gS \ 

(1) 1999 (2) 2000 

(3) 2004 (4) 2005 

48. fuEufyf[kr esa ls dkSu&lk ,d izeq[k izÏfr ds rhu fopkjksa esa ls ugha gS \ 

(1) if'peh (2) iwohZ 

(3) flusvfVd (4) Hkkjrh; 
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48. Which one of the following is not a category of environmental equity ? 

(1) Procedural (2) Geographical 

(3) Social (4) Psychological 

50. ENVIS centre at TERI works in the area of ............ . 

(1) Renewable energy and environment 

(2) Toxic chemicals  

(3) Pollution control 

(4) Occupational health 
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49. fuEufyf[kr esa ls dkSu&lk i;kZoj.kh; lerk dk Hkkx ugha gS \ 

(1) izfØ;kRed  (2) HkkSxksfyd 

(3) lkekftd (4) euksoSKkfud 

50. ENVIS dsaæ TERI ........... ds {ks= esa dke djrk gSA 

(1) uohdj.kh; ÅtkZ vkSj i;kZoj.k (2) jklk;fud fo"kkDrrk 

(3) iznw"k.k fu;a=.k (4) O;kolkf;d LokLF; 
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SPACE FOR ROUGH WORK 

jQ+ dk;Z ds fy, txg 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


